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SOZ(aq) + H202(aq) —> H2804(aq) k = 11 X 103 L/mOI'S
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SO2g) + H20 — H2SO3(4q) Kn,so, = 1.2
H2SO3(aq) > H™ + HSO3 Ka so, = 1.7 x 102
CO2(g) > CO2%aq) Kh, co, = 101>
H2CO3(aq) — H* + HCOgs Kat, Co, = 10633
HCO;3; — H* + CO3> Kaz, co, = 10° -10.33
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HOCI - H" + OCI Ka=2.7 x 108
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H4Si104 <> H* + H3SIiO4 Kal si= 10" 9.8
H,CO3; —»> H* + HCO3 Kal, cop = = 10633
HCOs; — H* + CO3* Ka2, COy = 10-10-33

3 1 log2=0.301"-1og3=0.477 > log 7 = 0.845
B+ & (g/mole): & (H):101; % (C):1201; % (N):14.01;
% (0):16.00; 4 (Na)-22.99;£? (Si): 28.08;
#r (S):32.07; % (Cl):35.45
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